EARAROBEEIERT — 2 N— IBISH —F

201751 A3A (K) 12@11I53H

BN+ rriss7 B3= ¥5%—#%

‘ [R1%] & ‘ [REBB] — | & (£) 16000 B

[AE<%] 1 7 :2,400,000  ~ 2 7&:720,000 3 3 7 :480,000 4

4 75 :288,000 F 5 3&:192,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o1 4 | FEBR 1:43.5 5-5-4-3 [39.2| — 1 517 | REBE (11E)
1158 K)—LXAE—-NR % 56.0 (=) (-5) () KU—L&—=7
R:TIT2RAFTTIN B R)—LLA2KR— l=iorie ]
S ; 4 5 | EBXH 1:44.0 13-13-9-8 |39.1| — 4 490 | fERAZ (J1118)
Eﬂm A ki 56.0 2 1/2) o) | W) EFH-TY—s—2 2=
LY IRGTA TSR BixNY VA ¢
—: %S : -3-4- - hnEEss— (1)
311 |FTIRTAI4—=7 "o 56.0 1('14/42')] oaa | w00 ? (5:86) SHEFA
R:BALINT Ry TR B:AHLUT Y3y [E &
L/ IL/SE T 4 5 | FIHEEA 1:44.1 1-1-1-1 | 40.2| — 3 503 | /AVERR ()
1 - Nl A o |BomZ
R:d—IK7Ya—)b BEV2-TUT> B #Bz
-2 4 6 | FEEA 1:44.1 3-4-2-2 | 40.1| — 7 444 | RERE— (GAFN)
5 5| =¥/ —F 54.0 (NF) (-19) | B
AN ZATNG B:a21x<Y—F ZVF TIT— I
UL _ 4 6 | RiEEA 1:44.3 6-6-7-7 [39.9| — 5 456 | BRE=1E ()111)
6 12| SYF-—KRTY 56.0 (3/4) (-4) | EIBIEZ
LR IHATAIE BiE—FT1rva T—IWKT7—L
44 | RHR 1:44.8 9-9-10-6 | 40.2| — 10 518 | FEAEIE ()
1 : MEEEE 56.0 G 172 Ly | A
L:VvA4T7obyvh— BFv—LETFv— [Ealizksecd
N R R e . —10—19— — E2 A= (1)
N BRI i 4 5u4.og 1.(415).0 10-10-12-9 | 40.2 12 (4_621) L
R:I—3>T74T7—FK B:5Ey hFR-—X A #2
— N AHES 245, -12-13- . — T S )
9 7|\ PATF1TIAHF it 6 a% (12415/25) 12-12-13-14| 40.4 14 ;1:523; /\“»r;r? "
L:Ersa7oq4 BN TIVNAF BRI
s ; 4 6 | BWERE 1:45.5 14-14-14-13| 40.3 | — 9 465 | BHBEF— (JII&)
10g 6| >7VIF %6.0 (7€) wn | 8 TS EAT
L:FaT 40 B:RAYILSA HH B
N .. — - BT HE . -2-3- - IWAIRE (GlF)
1B 5| varsuz it 5 e 1(_3%7 2-2-3-5 | 41.7 13 <4+742) Rl
g4 a7 )—Tr BT —JAIAN #HE B
SIS _ 3 44 | LIBBET 1:45.8 7-8-10-11 | 41.2 | — 11 467 | Wit (1)
12|8[13| 7V T V1 F—% .0 (172) o | EEEA
L4 x oML BIELES S f—
— - EFREA 146. -11-7- . — HEH— (1)
13l7l 11| FRz 2L %7 # 5 =5 1(426)2 11-11-7-10 | 41.6 8 go) st
L7V A FRIA— B:O¥HUH Bt -
1) A o4 | B|IHRR 1:46.9 8-7-4-11 | 42.5| — 6 496 | Wiyt (Afn)
1418114 VT b 56.0 3) (-3) |HABIX
R:F/wTe BU—URTLAZX J—HrIr—L
® 1—F—@EBIERL
1T=7r= 2,3,5,1,8,12,13,14,4,9,11,7,10,6
2a=5F= 2,3,1,5,8,12,14,13,4,9,11,7,10,6
Ja=5= 2,5,3,(1,8,14),(11,12),10, (4,13),9,7,6
40—+ — 2,5,8,1,3,4,12,10,9,11, (13,14) ,6,7
[ /N
B 8 160/ 714K 8-10 360M e E 5-6 640M JEE 1-8-10 1,130
B B 8 1004 1-8 170H e B 5-6 870M EH 8-10-1 3,810
10 210M 1-10 690 B & 8-10 740M
1 130 B HE 8-10 1,010

ABICOVWTRDTEEERROODE. TR LIV,




